AFE1 (INEXEFICHRLIAZFHSIZERE, RHERIEEREERVREHERR)
HEZBWDIELE
SALY SHMA
EFEA HEFEA HET B G thisg
HEJE HENNEEEHRFHEE —
TN P
N - THRBBHE | gmmmam | srme | mamn | gEM
;%Bﬂggﬁgug @%ﬂﬂﬁ@ﬁ% %L‘Eéf‘—‘ *ﬁ:é*&n 4‘—“ gﬁm'—’f—‘

% % %

15 £HEFZERAR 2% - 0.21 05 0.12
3% - 0.14 0.4 0.09

4% — 0.13 0.4 0.08

LHEZEREAR 2% - 0.46 0.8 0.20

3% - 0.15 0.6 0.06

4% — 0.06 0.5 0.01

FHEZEARX 3% i1 0.39 05 0.15

=1 0.38 0.8 0.15

4% i1 0.12 0.4 0.04

=1 0.11 0.6 0.03

5% i1 0.06 0.4 0.01

=1 0.04 05 0.01

2%8  E£MEFZFERAR 2% - 0.30 0.7 0.17
3% - 0.20 0.6 0.13

4% — 0.18 0.6 0.12

LHEZEREAR 2% - 0.67 1.1 0.29

3% - 0.22 0.8 0.08

4% — 0.08 0.7 0.02

FHEZEARX 3% i1 0.56 0.7 0.22

=1 0.54 1.1 0.21

4% i1 0.17 0.6 0.05

=1 0.15 0.8 0.04

5% i1 0.08 0.6 0.02

=1 0.06 0.7 0.01

3 SMBEERAX 2%| - 0.30 0.7 0.17
3% - 0.20 0.6 0.13

4% — 0.18 0.6 0.12

LHEZEREAR 2% - 0.66 1.1 0.29

3% - 0.22 0.8 0.08

4% — 0.08 0.7 0.02

FHEZEARK 3% i1 0.56 0.7 0.22

=1 0.54 1.1 0.21

4% i1 0.17 0.6 0.05

=1 0.15 0.8 0.04

5| i1 0.08 0.6 0.02

=1 0.06 0.7 0.01

KEWALFAR 8% - 0.52 1.1 0.27

7E| — 0.23 0.9 0.06

6Z| — 0.02 0.6 0.01

4% SHRFZERAR 2% - 0.30 0.7 0.17
3% - 0.20 0.6 0.13

4% — 0.18 0.6 0.12

588 WKEWAHEZAR 8% - 0.54 1.1 0.28
7E| — 0.25 0.9 0.07

6Z| — 0.03 0.6 0.01




HFBHIDES

SALw SHMA

HERRA HEEA HE BRI,
eI A RERARME L
i*-L\F?ﬁyL\il _-H::%EE & 41 S s, ey
\ - SEEEW | RAme | BEEE | RBRH
d ek sxprEns | OREOAE | R | EemEs | LR
% % %
A8 BTy RAR 181 - 2.94 1.1 1.96
2% - 1.10 0.6 0.77
3% - 0.33 0.6 0.23
HERRA HEEA HE B,
IR AT REERFEE EEL
i*-L\F?ﬁyL\il _-H::%EE & 41 S s, Ay
\ - SEEEWN | RAme | BEEE | RBRH
MRS s1%75 sxprEns | OREOAE | R | EemEs | LR
% % %
A8 WEA Ty I RAR 181 - 2.33 0.8 1.60
2% - 0.74 0.6 0.51
3% - 0.15 0.6 0.10




HFBHIDES

YAZ

HERRA

HEFS

HatE A

EE=JNN]Y

ARINBREHAFES

BN

. S CIWEAS | smmmom | spme | RuEw | GRM
;jéjﬁﬂﬁrg—gﬁ%“g o)iirfﬁﬁo)ﬁ,m 7T=£$ ﬁﬁ*&%g Eﬁ%x
% % %
4% A UT VO RAR 18 - 0.83 0.7 0.56
2| — 0.29 0.6 0.19
3% - 0.21 0.6 0.14




HFBHIDES

AES

HER RS

HEFR

HatE AL

EE=JNNNY

ARINBERRAFES

EE=JNN]Y

. S CIWEAS | smmmom | spme | RuEw | GRM
ﬁfﬁﬂﬁfi%ﬁ%ﬂﬁ 0)%&%0)’5"“ 7T=£$ ﬁﬁ*&%g Eﬁ%@
% % %
5% g4/ TV IRAR 1Z| — 0.15 0.6 0.10
2%| — 0.03 0.6 0.01
3E| — 0.02 0.6 0.01




#FEHDIESE

L
FEFFEA HEFEA et B G thisg
HEJE HENNEEREHRFHEE —
TN P
N - XLBIEE | wamamm | same | RaEw | ERo
;%Bﬂggﬁgug @%ﬂﬂﬁ@ﬁ% 7T=;—§4‘3 *77:’—%*&%4‘3 %ﬁm’—fﬁ
% % %
15 £HEFZERAR 2% - 0.68 1.1 0.24
3% - 0.26 05 0.12
4% — 0.09 0.4 0.03
LHEBEREAR 2% - 0.63 1.2 0.17
3% - 0.23 0.6 0.07
4% — 0.08 0.4 0.03
FHEZEARX 3% i1 0.70 1.1 0.25
=1 0.67 1.1 0.23
4% i1 0.27 0.5 0.12
=1 0.23 0.6 0.07
5| i1 0.10 0.4 0.03
=1 0.08 0.4 0.02
2%8  S£MEFZFERAR 2% - 1.87 29 0.67
3% - 0.71 1.4 0.32
4% — 0.26 1.2 0.09
LHEZEREAR 2% - 1.72 32 0.48
3% - 0.62 1.6 0.20
4% — 0.23 1.2 0.07
FHEZARX 3% i1 1.91 29 0.69
' 1.84 29 0.64
4% i1 0.74 1.4 0.33
=1 0.64 1.6 0.20
5% = 0.27 1.2 0.09
=1 0.23 1.2 0.04
3% E£MEFEIRAR 2%| - 1.29 20 0.46
3% - 0.49 1.0 0.22
4% — 0.18 0.8 0.06
LHEZEREAR 2% - 1.19 22 0.33
3% - 0.43 1.1 0.14
4% — 0.16 0.8 0.05
FHEFZEARX 3% i1 1.32 2.0 0.48
o) 1.27 20 0.44
4% = 0.51 1.0 0.23
o) 0.44 1.1 0.14
5| i1 0.19 0.8 0.06
=1 0.16 0.8 0.03
6% S£MEFZBENAR 2% - 1.29 20 0.46
3% - 0.49 1.0 0.22
4% — 0.18 0.8 0.06




HFBHIDESE

7L

HERRA

HEFR

HatE A

BN

ARNBERRAFES

BN

. S CIWEAS | smmmom | spme | RuEw | GRM
;jéjﬁﬂﬁrg—gﬁ%“g o)iirfﬁﬁo)ﬁ,m 7T=£$ ﬁﬁ*&%g Eﬁ%x
% % %
4% A UT VO RAR 18 - 0.74 0.7 0.50
2% - 0.21 0.6 0.14
3| — 0.02 0.6 0.01
5% g4/ TV I RAR 1E| — 214 0.8 1.48
2| — 0.42 0.7 0.27
3| — 0.02 0.6 0.01




HFBHIDES

b

EERRA

HEFS

HatH AL

EE=JNN]Y

ARINBERRAFES

EE=JNN]Y

. S CIWEAS | smmmom | spme | RuEw | GRM
;jéjﬁﬂﬁrg—gﬁ%“g o)iirfﬁﬁo)ﬁ,m 7T=£$ ﬁﬁ*&%g Eﬁ%x
% % %
48 EA Ty I RAR 121 - 0.62 08 037
28| - 0.03 0.6 0.01
3%l - 0.02 0.6 0.01




HFBHIDESE

B3&ES

HERRA

HEFSR

HatE i

BN

ARINBERRAFES

BN

—_ 2| @t XMBEEE | yoermn | smse | BeEs | mBRe
- = sxpEEn s | OEBOER | BER | REREE | AR
% % %
— whigiA Ty RARK 1| - 1.94 0.8 1.33
2Z| — 0.37 0.7 0.23
3E| — 0.02 0.6 0.01




HFBHIDESE

Uh

HERRA

HEFESR

HatE i

EE=JNNNY

ARINBERRAFMES

EE=JNNNY

—_ 2| @t XMBEEE | yoermn | smse | BeEs | mBRe
- = sxpEEn s | OEBOER | BER | REREE | AR
% % %
— whigiA Ty RARK 1| - 5.97 1.0 498
2Z| — 3.53 0.7 2.84
3E| — 2.33 0.7 1.65




HFBHIDESE

nE

HERRA

HEFSR

HatE i

BN

ARINBERRAFES

BN

. S CIWEAS | smmmom | spme | RuEw | GRM
ﬁfﬁﬂﬁfi%ﬁ%ﬂﬁ 0)%&%0)’5"“ 7T=£$ ﬁﬁ*&%g Eﬁ%@
% % %
3F s UTFyvIRAR 18 - 1.12 0.7 0.76
2| — 0.36 0.6 0.25
3| — 0.02 0.6 0.01




HFBHIDES

<Y

HERRA

HEFESR

HatE AL

EE=JNNNY

ARINBERRAFMES

E=JNNNY

—_ 2| @t XMBEEE | yoermn | smse | BeEs | mBRe
- = sxpEEn s | OEBOER | BER | REREE | AR
% % %
— whigiA Ty RARK 1| - 0.67 0.7 0.45
2Z| — 0.03 0.6 0.01
3E| — 0.02 0.6 0.01




HFBHIDES

3%

EERRA

HEFS

HatH AL

EE=JNN]Y

ARINBERRAFES

EE=JNN]Y

. S CIWEAS | smmmom | spme | RuEw | GRM
;jéjﬁﬂﬁrg—gﬁ%“g o)iirfﬁﬁo)ﬁ,m 7T=£$ ﬁﬁ*&%g Eﬁ%x
% % %
38 A TV IRAR 1E| - 1.42 0.7 0.99
2% - 0.21 0.6 0.14
3E| — 0.02 0.6 0.01




HFBHIDES

ERRS

EERRA

HEFS

HatH AL

EE=JNN]Y

ARINBERRAFES

EE=JNN]Y

—_ 2| @t XMBEEE | yoermn | smse | BeEs | mBRe
- B sxpEEn s | OEBOER | BER | REREE | AR
% % %
— whigiA Ty RARK 1| — 1.64 0.8 1.10
2% - 0.11 0.6 0.06
3E| — 0.02 0.6 0.01




HFEHDIESE

FOLTNL—Y
EEFFEA HEEA et B G tthis]
#/E)NE #HEIIEEEXFMEE —
TN P
N - TIBERE | sxmamm | tpme | ReEw | mBe
snEpEEDn s | PEBORR RAER SEMER | BEER
% % %
- EHEFEERRAR 2% - 361 43 1.39
3% - 2.23 22 1.07
4% — 1.37 1.4 0.71
LHEEREAR 2% - 2.98 44 0.91
3% - 1.74 23 0.70
4% — 1.01 1.4 0.45
FHEZEARK 3% i1 3.54 47 1.20
=1 2.95 43 0.92
4% = 216 2.6 0.91
=1 1.7 22 0.70
5| i1 1.30 1.6 0.60
o) 0.97 14 0.43
KEBRAHZFARK 8% - 2.61 47 0.73
7E| — 1.67 3.0 0.55
6Z| — 0.97 1.9 0.35




HFBHIDES

FOLTNL—Y

HERRA

HEFR

HatH A

BN

ARINBERRAFES

BN

—_ 2| @t XMBEEE | yoermn | smse | BeEs | mBRe
- = sxpEEn s | OEBOER | BER | REREE | AR
% % %
— whigiA Ty RARK 1| — 237 0.7 1.68
2Z| — 0.66 0.7 0.43
3E| — 0.02 0.6 0.01




